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Задание. 
 
1. Для схемы потенциометра (рис.1) определить напряжение на выходе ВЫХU , при 

начальных данных: 
 
Вариант 

ВЫХU , В Х , % от   R  HR  

1.  10 0 10 10 
2.  10 10 10 8 
3.  10 20 10 6 
4.  10 30 10 4 
5.  10 40 10 2 
6.  10 50 10 1 
7.  10 60 10 2 
8.  10 70 10 4 
9.  10 80 10 6 
10.  10 90 10 8 
11.  10 100 10 10 

 
* Примечание округлять цифры до 1 запятой. 
 
 
 
 
Ответы: 
  Uвх  R1  R2  Rн  Uвых  I1  I2  Iн 

1.   10 10  0 10 0 1  1  0

2.   10 9  1 8 0,917431 1,009174  0,897044  0,091743

3.   10 8  2 6 1,666667 1,041667  0,78125  0,208333

4.   10 7  3 4 2,222222 1,111111  0,634921  0,37037

5.   10 6  4 2 2,5 1,25  0,416667  0,625

6.   10 5  5 1 2,222222 1,555556  0,259259  1,111111

7.   10 4  6 2 1,764706 2,058824  0,514706  1,764706

8.   10 3  7 4 3,414634 2,195122  0,798226  1,707317

9.   10 2  8 6 5,714286 2,142857  0,918367  1,428571

10.   10 1  9 8 7,826087 2,173913  1,023018  1,304348

11.   10 0  10 10 10 2,25  1,125  1,25

 
 

 
 
 
 
 


